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Total No. of Questions 40| (Total No. of Printed Pages 15
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SCIENCE

Time : 3 Hours] [Maximum Marks : 80

Section-A | each
Noge = Q. Nos. 11to 18 jpe very short answer type questions of 1 mark
each.
—— 1. Convex miITors are commonly used as :
(A) Shaving mirror
(B) Rear-view mirror

(C) Headlight mirror

(D) All of these
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When a fine beam of sunlight €MEISa symope fijed room through

a small hole, the phcnnmcnun 1s knownp as -

(A) Reflection of light
(B) Refraction of light
(C) Tyndall effect
(D) None of these

The common refractive defects of vision include Myopia-

Hypermatropia and Presbyopia. Choose the correct match :

(A) Myopia—Farsightedness, Hypermatropia—Age related
farsightedness, Presbyopia—Shortsightedness
(B) Myopia—Shortsightedness, Hypermatropia—Age related

forsightedness, Presbyopia—Farsightedness

(C) Myopia—Shortsightedness, Hypermatropia——Farsightedness,

Presbyopia—Age related farsightedness

(D) None of these match is correct
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4. For flow of charges iy etallic wire. the electrons

a conducting ™M
move only if there is 4 difference of electric pressure, called the :

(A) Potential difference
(B) Resistance

(C) Power

(D) Both (A) and (B)

5. Which property of a proton can change while it moves freely in a

magnetic field ?

(A) Mass and speed

(B) Speed and velocity

(C) Mass and momentum
(D) Velocity and momentum

6. A rectangular coil of copper wires is rotated in a magnetic field. The

direction of the induced current changes once in' each :
(A) Two revolutions
(B) One revolution
(C) Half revolution

(D) One-fourth revolution
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7. NaCl + agNO, —> AgCl ¥ NaNo,

The above reaction is a °
(A) Displacement reaction
(B) Doubte displacement reaction
(C) Combination reaction

(D) None of these

8. Metals can be beaten into thin sheets. This property is called :
(A) Metallic luster
(B) Malleability
(C) Ductility
(D) Conductivity

9. Which of the following methods is suitable for preventing an iron

frying pan from rusting ?
(A) Aplying grease

(B) Applying paint

(C) Applying coating of zinc

(D) All of these
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0. Bee sting contains which acid :

(A) grhanoic acid

© Oxalic acid
(D) Citric acid

which of the following types of medicine 18 used for treating acidity

11.
in stomach ?

(A Antibiotic
(B) Antacid

(C) Analgesic
(D) Antiseptic

12. Autotrophic nutrition involves :

(A) Intake of simple inorganic material from the environment

(B) Using external energy source like the sun

(C) Intake of complex material prepared by other organisms

(D) Both (A) and (B)
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:bits (stops) growth jn plants 7

- inhi
13. Which plant hormone !

(A) Cytokinin
(B) Auxin
©) Absc.:isic acid
(D) Gibberellins

14, An example of homologous organ is
(A) Our arm and a dog's fore arm
(B) Our teeth arid‘ and elephant’s tusks

(C) Potato and runners of grass

(D) All of these
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' ayer ?
(5 The Us¢ of which chemicy ho cndaﬂgﬂtd the ozoneé lay
: : G

A) pesticides

(B) CFC.S

©) [nsecticides

(D) None of these

(WO statements (Assertion—A and

Note - From Q. Nos. 16 1o 18.

Reason-R) are given. Select !
A, B C and D as given below :

he correct statement/answer (O these

questions from the codes

Codes :

and R is the correct explanation of A.

(A) When A and R are true

R is not the correct explanation

(B) When A and R are true but

of A.

(C) When A 1s true but R is false.

(D) When A 1is false but R is true.
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16. Assertion (A) : The two charaCleristic fo,, o oo o carbon, that
&5 ! Y
is tetravalency and Calenation
Reason (R) :+ Carbon atom has foyy valence electrons in its
outermost shell Which myp. it possible to form

large number of compoyps
17. Assertion (A) : Pollen grains from the carpel stick to the stigma
of stamen.
Reason (R) : The fertilized egg cells grow inside the ovules and
become seeds.

18. Assertion (A) : Ddcomposers act as cleaning agents of the

environment,

Reason (R) : The decomposers recycle waste material in the

hydrosphere.

Section-B 2 each

Note :~ There will be ten questions in this Section (Q. Nos. 19 to 28)

each of 2 marks.

19. Find the focal length of a lens of power —2.0 D. What type of lens

is this ?
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20

27.

28.
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- ' i series -
what do YU mean by tesistors connect¢d

intersect cach other ?

Why don't tWO magnetic lines of force

4 before burning in air ?

why should magnesium ribbon be clean®

write down the structural formula of °

(i) Propan®
(i) Butane

Give an example of each of a metal which :
is a liquid at room temperature

(a)

() can be easily cut with a knife
How is the small intestine designed O absorb digested food ?
Why is the use of iodised salt advisable ?

How does binary fission differ from multiple fission ?

How does the creation of variations in a species promote survival ?
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Sectlnn_c
3 €ach

Note :—~ In this Section from Q. Nos. 29
to 37, there will be nine

questions with internal choice, eq; ¢
of 3 marks.
29, Draw the three ray diagrams for the COrrection of h tropi
. of hypermatropic eye.

Or

() What is the far point and Mear point of the human eye with

normal vision ?
(il) What is meant by power of accommodation of the eye ?

30. Will current flow more easily through a thick wire or a thin wire
of the same material, when connected to the same source ? Give

reasons in support of your answer.
Or

The potential difference between the terminals of an electric heater is
60 V when it draws a current of 4 A from the source. What current

will the heater draw if the potential difference 1s increased to 120 V?
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j. what is Righthand w0y

agnetic fie .
w Mmag fie o bat magnel.

Dra d liny around

(i1)

Or
What 8 the function of g earth Wire i

iy When does an electric short circuit oceur ?

he following °

17, Write 2 balanced equation with state symbols for

ater react to give

(a) Barum chloride and sodium sulphate in W

insoluble barium sulphate and sodium chloride solution.

(b) Sodium hydroxide solution reacts with hydrochloric acid solution

to produce sodium chloride solution and water.
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T { W'
Describe Displacement reaction With ty, examples.
33. Write down a note on AQqud Regia.

Or
- Write down three properties of ionic compounds.
34. What is an alkali ? Write down o properties of alkali.
https://www.jkboseonline.com
Or

Write down three uses of Washing Soda.

35. Write down the names of different parts of human brain. Draw the

labelled diagram of human brain.

10thARF(S2)IKUT2024-25—105-Y
A-5-Y

https://www.jkboseonline.com


https://www.jkboseonline.com/

(13 )

Or

Wwrite down the functions of the foll®

() Thyroxin

(ii) Adrenalin€
g in Reproduction ?

36. What is the importance of DNA copyin

- Or

on ?
' tion !
What are the different methods of contracep |

evels of this magnification

37. What is Biological Magnification 9 will the |

- - 9
be different at different levels of the ecosystem -

Why is the damage t

steps are being taken 10 limit this- damage ?
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Section-p s cach
Q Nos. 38 to 40, there will be three long

Note - In this Section "

jth intern; :
answer type question® with intemal choice, each of 5 marks.
is held 25 em away from a converging

38. An object 5 ¢m in lengt
h 10 cm. Draw  the ray diagram and find the

lens of focal lengt

image
position, size and nature of the ge formed.

or

Describe the mirror formula and magnification in spherical mirrors.

39. (i) Explain the mechanism of cleaning action of soaps.

(ii) Explain the formation of scum when hard water 1s treated with

soap.

Or
How can ethanol and ethanoic acid be differentiated on the basis of

their physical and chemical properties ?
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b v i '!
Wwhat ¥ the role g estion of foc

(! Sliva iy the dig

A0

ji) How 1T futs d'gcmed N our body 9

Or

in human

() How 15 OXYgen apg carbon  dioxide transported

hody 7

globin

il - . 0
iy What would be the consequences Of & deficiency of haem

in our bodies ?
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